
 

 

 

                          Answer on Question #53839 – Math – Calculus     

 

Use graphs and tables to find the limit and identify any vertical asymptotes of 

limit of 1 divided by the quantity x minus 9 as x approaches 9 from the left.  

 

                                                                         Solution 

𝒚 =
𝟏

𝒙 − 𝟗
 

𝒙 𝟖 𝟖. 𝟓 𝟖. 𝟖 𝟖. 𝟗 𝟖. 𝟗𝟓 𝟖. 𝟗𝟗 𝟖. 𝟗𝟗𝟗 

𝒚 −𝟏 −𝟐 −𝟓 −𝟏𝟎 −𝟓𝟎 −𝟏𝟎𝟎 −𝟏𝟎𝟎𝟎 

 

 

 𝐥𝐢𝐦
𝒙→𝟗−

𝟏

𝒙−𝟗
= −∞,   similarly   𝐥𝐢𝐦

𝒙→𝟗+

𝟏

𝒙−𝟗
= +∞. 

x=9 is the vertical asymptote   
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